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Sen^2 cos^2 
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   Sen 2sen  cos 

	 Cos 2 = cos^2 sen^2 
	A        =       B       =     C    =      2Re

Sen A      sen B            sen C



	Cos 2 2 cos^
	A^2 = B^2 + C^2 – 2BC cos 

	A-B =  tg(A-B) /2
A+B    tg(A+B) /2
	C= A cos B cos 
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Tg  = tg 
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	Tg 2 2 tg 
tg^2 
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Sen sen   cos  + sen   cos 
	Cos  () = cos   cos –  sen   sen
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	Triangulo
	
	Polígono

	A = ½ ac sen 
	RA =   A_
            p - a
	Ai = ½ R^2 sen (2n)

	Ri = A/p
	A = ½ a^2 sen sen C
                    Sen (B+C)
	Pi = 2 n R sen (n)

	  Re= abc
         4A
	Pe = 2n R tg (n)

(Poligono)
	Ae = n R^2 tg (n)
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Montoya.
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